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(10 pts) 1.
Which one is an organism?

mushroom
diamond
rock
white blood cell

(10 pts) 2.
How does a fern reproduce?

It divides into acorns.
It splits in two.
It produces spores.
It forms buds.

(10 pts) 3.
A Venus flytrap closes around a small insect. Which life characteristic does this illustrate?

growth
reproduction
homeostasis
response to stimuli

(10 pts) 4.
Which of these animals could a bulldog mate with to produce offspring?

tabby cat
sheepdog
raccoon
beaver

(10 pts) 5.
The taxonomic reference for humans is: Eukarya, Animalia, Chordata, Mammalia, Primate, Hominid, Homo, sapiens. To which order do humans belong?

Primate
Hominid
Animalia
Chordata

(10 pts) 6.
Use this dichotomous key to identify the class to which this animal belongs (Crocodile).

Invertebrate
Mammalia
Birds
Amphibia
Reptiles
Fish

(10 pts) 7.
Which of these is not one of the domains of life?

Eukarya
Bacteria
Protozoa
Archaea

(10 pts) 8.
Starches are an example of which type of organic molecule?

carbohydrate
protein
nucleic acid
lipid


(10 pts) 9.
Which part of the eukaryotic cell contains information to direct the cell’s functions?

ribosome
cytoplasm
mitochondria
nucleus


(10 pts) 10.
Which of these statements will complete the table correctly? (table is on cell theory)

All cells come from other cells.
During adulthood, the body stops producing cells.
Organs make all of the cells in an organism.
Cells depend on the brain to divide.


(10 pts) 11.
Which structural characteristic is found in both prokaryotic cells and eukaryotic cells?

circular DNA
a nucleus
a cell membrane
lysosomes


(10 pts) 12.
Which important process takes place in the mitochondria of a cell?

ribosome production
cellular respiration
photosynthesis
protein synthesis


(10 pts) 13.
Which of these describes the function of the endomembrane system in cells?

the transport of materials throughout the cell
maintaining a stable temperature in the cell
synthesizing energy used by the cell
structural support for the cell


(10 pts) 14.
What is the function of a chloroplast in a cell?

It provides support and protection.
It breaks down waste materials.
It controls the water content.
It converts light energy into chemical energy.


(10 pts) 15.
What is the result of mitosis?

one sperm and one egg
two sperm cells and two eggs
two genetically identical nuclei
four genetically identical nuclei


(10 pts) 16.
Which picture illustrates the telophase stage of mitosis?

A
B
C
D


(10 pts) 17.
Which structure and support system is found in insects?

endoskeleton
exoskeleton
cytoskeleton
musculoskeleton


(10 pts) 18.
How do the muscles in the human body help with movement?

They squeeze the bones.
They push bones apart through ligaments.
They pull on bones through tendons.
They cause bones to bend.


(10 pts) 19.
Which of these animals has gills for respiration?

red robin
frog
grasshopper
salmon


(10 pts) 20.
Which structure makes it possible for oxygen to enter the circulatory system?

nostrils
bronchi
alveoli
veins


(10 pts) 21.
The hydra has an incomplete digestive system. How does the hydra remove undigested food?

It pushes out food through an opening, which is also used to bring in food.
It diffuses food through its outer layer.
It expels food by using a special opening for that purpose.
It pulls food out with its tentacles.


(10 pts) 22.
In an antigen–antibody response, what is the function of an antibody?

to ingest and digest the antigen
to help immune cells identify and destroy a pathogen
to enclose the antigen in a protective shell
to remove the DNA of the antigen


(10 pts) 23.
Which one of these is an inherited trait that cannot be determined by looking at the individual?

accent in their speech
body shape
reciting song lyrics
blood type


(10 pts) 24.
When an organism reproduces through budding, what is the result?

one new offspring that is genetically different from the parent
two new offspring that are genetically different from the parent
one new offspring that is identical to the parent
two new offspring that are identical to the parent


(10 pts) 25.
In flowering plants, how is an egg fertilized?

with sperm
with an ovule
by spores
with embryos


(10 pts) 26.
How does the life cycle of a grasshopper differ from the life cycle of a butterfly?

A butterfly life cycle does not include a larva stage.
A grasshopper life cycle does not include a pupa stage.
A butterfly life cycle does not include an adult stage.
A grasshopper life cycle does not include an egg stage.


(10 pts) 27.
At which stage of their life cycle do humans stop growing?

puberty
adolescence
childhood
adulthood


28. What is different about how a sunflower and a rabbit obtain energy? 

A sunflower can produce its own food from the energy of the sun. A rabbit cannot produce its own food, so it must ingest it.

29. Rust forms on an old car. Over time, the rust covers more of the car. Is the rust alive? Give an explanation to support your answer.

It takes more than 'reproduction' or 'growth' to make something alive. It must also respond to stimuli for example. If the rust cannot pass all the tests of life, it is not alive. It fails the response to stimuli test.

30. Describe the missing stage in the process of making a protein.

a. DNA in the nucleus contains information to code for a protein. 

b. RNA is created using the DNA as a pattern

c. RNA reaches the ribosome. 

d. A different kind of RNA decodes the information and assembles the building blocks of the protein. 

e. The protein is then transported to its proper destination. 

31. The concentration of sugar is higher inside a cell than outside the cell. The concentration of water inside the cell is lower than it is outside. Sugar cannot pass through the cell membrane. Over time, what will happen to the concentrations of water and sugar? What is the name of this process?

The process is osmosis. Water will come into the cell because the concentration of water inside the cell is lower than outside the cell. The cell will swell up in size because of the added water. If too much water comes in it will burst.

32. Write a paragraph to compare plant and animal cells. Use the terms chloroplast, nucleus, cell wall, and mitochondria in your writing.

Plant and animal cells are different. Plant cells have a rigid cell wall in addition to the cell membrane. Animal cells have only the cell membrane. Also, plants produce their own energy using chloroplasts. Animal cells do not have chloroplasts and get their energy from the food they ingest. Both plant and animal cells have nucleus which control the cells function and house the DNA. The mitochondria in animal cells provide usable energy for the cell by cellular respiration. Plants do not have this structure.

33. Describe the function of arteries, veins, and capillaries in the circulatory system.

Oxygen rich blood travel through arteries to the body. These become smaller vessels called capillaries which can get so small that cells can pass only sigle-file. It is here that exchange of gas, nutrients, and wastes occur. The wastes make a return path with the oxygen depleted, blue colored blood to the heart to once again make the path to become oxygenated and flow to the body's systems.

34. Predict what would happen to muscle tissues, individual muscles, and the muscular system if muscle cells failed to function properly.

The bod would not be able to move well if at all if the muscles became damaged.

35. Give an example to explain how cells form different types of tissue.

Cells specialize. One example of this specialization is liver cells. Liver cells will function in unison with other liver cells to form tissues making up the liver organ.

36. If kidneys are weakened, what is a likely result for the excretory system?

It will not effectively filter out urea from the blood.
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